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Q. No. X carries 1 mark each Ix12 = 12
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1. Answer as direceted

1x12=12

:
i e v ¢

(@ I f(x)=C, where ‘C'is Constant then Af(x)=?
M f(x)=C 7@, @UE ‘C' = gam wEs Af(x)=
« (b “Two evenis can be mulually exclusive and mdcpuldtnt
simulianeously”. State : (True or False)
“ b WO e SR AT ¢ TIE T | (9% W quE) TEd
ST
{c) Give one example of two mutually exhaustive cvents.
i '-"{?I"’“PT?' o) o b Twizae Wi |
()] Wntc the value of A4™1x".
AV g7 99 @A
(e) State the condition under which
V()xﬂ N=V(X)+V({) ?
5 *18 sl V(X£Y)=V(X)+V(Y) €Az
(/ When ‘p=gq’, Binomial distribution will be -
(Il in the blank)
a p =q" T, T4 el G A | (e o @)
(g) State-.any one Characteristics of Normal distribution.
e e e @l wTel / Cafie e < |
(h) Find the standard deviation (SD) of Poisson distribution if its
mean is 9.
*7% s @&l oiewe 9 2@ 1 =5eoa e fKpifea s @ <)
() Sampling error is .. proportional to its sample size.
(Fill in the blanks)
Frifefes @ Tam i — welfes |
(3T 9ol T
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a.

[} Name any one method of selection of a snuplc random s 1"1‘1])](2
e VTS e R S e e Aelen am T e
«
, - . <
(i) Deline Null hypothesis. i
4 2T TE] V| ¢
¢
R (
(. _—_ iest can be uscd for testing for md(pumun( ol
altributes. (Fill in the blardd) .
ST TEE FETER B o B (P g )
What do you mean by Interpolation ? Stale its assumnptions. T
+2=1
142 t

- N - = Fes =
TR TS S R G F[IFECE c:(~m el | > «
<
0y s !
Write the Simpson's ll’d rule for Numerical integration. 3
FAE FEEE (AR et L R e ¢
' (
Il [(x)=¢" where x is variable, show that J"f(x)zI'e"E
K=Constant. 3
o , ¥ B N P s ) n » .\'S
W f(x)=e¥, x &b dFaEm (5e) T Ele @ 4" f(x)=Ke'g
K=&5%| g
-
{

Estimate the missing term in the following table :
frsa <lffr coreE B9 emh e e
x 12 3 4 b

f(x): 7 - 18 21 37
A  siudent obtained that P(A]—(l/‘/j. P(B)= ]/:; and
r(AuU B)—?a.M. show that ihe results are not correct. 2

T T e @, P(A)= 1, P(B)=1) e P(AU 13)22%4:
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7. If a random variable X takes the values 1, 2 and 3 with probability
PX=r)=lf., r=1.23, . 3
&G AmfeEs 2oE X-99 TEIRE |
P(X=r)=T%, r=123
then find (Sie R &) (@ V(X) @) V(2X+5) (i) P(X>2)

8. A machine produces 2% defective items. 100 items are selecied at
random. Find the probability of not more than two ilems being
defective among selected items. . 3
Gl R Seomma 2% wH7E 1 100 B 3 amfves o s <= ==l | <
W T Ui whye I€ ok TEie e T [Given that (ST ©ITR)
e =.135]

9. X is a Binomial variate with mean=2 and Standard deviation
(SD)=7J§. Find the probability distribution of X and P(X>1).
P(X=2). ‘ 3
4=l el e X937 T 2 ¢ Ui Rpfe %/5 X-e7 FEREl 7 8

©P(X>1), P(X=2) & %R Feft _

10. A random sample of size 10 gives the following results
YX =400 and TX*=16160
Test whether the sample comes from a population with mean 35 7?
(Given that tqg(9)=2-262) ) 3
105 cofirs s @S g fend firs (remt R wegaill elfewoa i
35 3@ Gl T (U oAl AR [l A9 |
YX =400 € £X2=16160 (MG TZ tos(9)=2-262)

11. Write a note on the basic principles of Sample Survey. 3
T AR EIe BAE B @A

12. Describe how you will draw a simple random sample of 10 items
from a population of 948 items. 3
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9481 Tellam =5 7w (v 106 TemE

T s —— s =@

13. State the uses of Chi-square ( 22) distribution.
W = (%) e TeRme e

@7 H EE z-lqigﬁ—f.s Toell !C‘:"—\‘ST

C

I, Explain large sample test of signilicance for sample mean.

TR T afeneda T M Aden Afmn g )

15. The probability density function of a random variable X is given b

J)=3x* o0s=x<1

Then find (i) Py( 0=sxs<Y) i) F(x) (@) E(2X+3).

A ol AR Ter X-an Efel T v orew S —

J(x)=3x* 0<xzg1

wrgE Refw wmi @ P(0sx<}) () F(x) (i) E(2X+3).

16.
are also independent.

A A s B 5 ey W m e e @ A @ B & Fy 5] |

¢

If A and B are two independeént events then prove that A and [

3

17. State Newton's forward interpolation formula and its uses. 3

Aebem wertd) senveel Sl @t e | R T @

18. (i) Show that ((72ie @)

Azlogx=log{1— 1.
: (e+1)%
(@) Given (ST wiTE)
x 1 2 7 8
flx): 4 5 5 4
Find the value of f(6)
f(6) a7 wm Bz =z
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i by N rical integration. Evaluaie (bl X ~N (=30, 0=3), C
ha / an by al integration. Evaluale : SR } _ )
. 18, What do .‘LOU TREAT By NUINCTICa INLERTatiOl find the distribution of U =2X+5 - 3+2=5¢
oo i i ) e o C
J T by Simpson’s +rd rule and hence find log, 2. : MW N~ N (=30, 0=3 ) T, OA U =2X +5 %6 Fefxr e LE
2+3=H z
A ; = ) c
FRIITE FOETA-EEGe S @14 FreereE l wrEslh @ e 23. Wrlite a note on Stratified Random Sampling and state the mothoclsr
l « “ T4 1 4 S17¢ L= =
J-I _,‘.1,\“ it ey Rl 6w TR log, 2 W e @) ub1 ocation of S:.melf size in lhl: sampling. ] 3+2 og
01+ x ) Wil g Tyfors Sz Tom 51 (TR @ B 2o T Sl e aRme -
“Gfe it Tremd 3| -
20. () State the Condition% under which E
P(A|B)=P(A) and P{A+B)=P{A)-+P({B)"? 24. Trom the following table, state the Null hypothesis, compute Lhe_E
5 <€ FATE — test statistic for testing the independence of two atiributes A and ¢
P(A|B)=PlA) &% P(A+B)=P(A)+P(B) &= 7 B, and draw your conclusion, N 243=5¢
= fies awre siferel (2 4 90 A @R B FoFE #8019 o, ofemifas
(i} A family of 3 children. selected at random. Find the probability T € TErETE e FE1 c
that the family has two boys given that the first child is {a) Boy A ¢
(h) Girl. . 243=5 BN A | A . c
=G =iFErag @l wme TiE o fr’?rg?*r P'D<f = ST S B, [10]|30 %
sAfemrefire wh wew (@A T wTEe @@ wa, 9 AT 75 s B, |18]52 C
RS 7?; " ) . ) -
(a) (E0E (b) T3 Give that (&7l ©it8) X 05 qd.r) =9 841, G
<
% : 1 ‘ - <
91. (@) n-unbiased dice are rolled together. Find the expectation of the | 95 Write Short notes on - (any two) 2Ve49Ys=5 €
i) Sum and (@) Product of numbers on n-dice (@ Pilot Survey :
PREATERS e 5 e et F o rem Yh el o e
TRIY o " o Rl d (b) Degrees of freedom
N (i) CAER 6 (i) W Zrera fe ava
; b (¢) Judgement Sampling.
() Find the mean of Binomial distiribution. 3+2=5 ]
ey Sl @Al (e we) ‘ .
. fasld TR T e faefE - .
(@ s e w&m
22. (@) Derive Poisson Probability distribution from Binomial (h) “wa s
distribution. ' (0 aftes afssa
ool e (977 ST A0 AEEl v e ean . —_ x
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